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QUESTION BOOKLET

This question paper contains 170 questions. / $8 5= 9 T170TH 2 |
All questions are compulsory. / Teft g e € | .
One question carries half mark only. / T I4 o ToTU Shaet 3T1e 376 2 |

Maximum Marks : 85 JTfershd 37 : 85
Time : 2 Hours gy : 2 90
1. If opening stock is ¥ 10,000, Net purchases ¥ 70,000, Wages ¥ 2,500, Carriage

inward ¥ 500 and Closing stock I 15,000, what is the manufacturing
cost ?

Ife IRAF i T 10,000 &, AE 53 T 70,000, ASGH T 2,500, 3TEH HIST
% 500 3R 37f=m wfeh % 15,000, T AWTq R ?

(A) 65,000 (B) 83,000 (C) % 68,000 (D) % 73,000

Who has given fourteen principle of Management ?

(A) Bernard (B) Henry Fayol (C) F.W. Taylor (D) Flemming
fopee yeua & 14 faga feu g 7

(A) s (B) RI®IA (C) ThH.TxY, o’ (D) TATHT

Physical Distribution provides

(A) Place utility (B) Time utility
(C) Place and time utility (D) Form utility
Wifcreh foraRer Y shiat &

(A) TIH HeTeh ST (B) THI YA

(C) TIH qoieh M AW WA (D) BIH ST

What is relevant to place variable of Marketing Mix ?
(A) Branding (B) Price Penetration
(C) Sales Personnel Motivation (D) None

HTehfeT i o i IUEet o AT R 7

(A) s (B) me® afger
(C) Tcw| gqHe AT (D) % Wi &l
Non store marketing include

(A) Home selling (B) V.pP.P

(C) Vending Machine (D) All of these
A TR ATeh{ST IMHS Ll &

(A) WIHT  (B) V.P.P (C) dfnwefim (D) Iwied @t
3 Code No. : C-445/2018/Series-A



6. A perfectly competitive firm attains equilibrium at
U Ut ufeqell w1 Tge T ! @
(A) AC=AR (B) MR=MC (C) MC=AC (D) TC=TR

7.  The purpose of job evaluation is

(A) Fixation of Responsibility (B) Promotion
(C) Wage Determination (D) Transfer to a better job
STe oo ol 3699 &
(A) Toeierdt o1 femo (B) dgfd
(C) gl Freim (D) 3T=8 e W T
8.  Demand has the following elements :
(A) Quantity (B) Price (C) Time (D) All of these
AMA T
(A) HE= (B) hHd (C) T (D) Ut At
9.  The Commercial Banks do not perform one function out of the following :
(A) Mobilisation of Savings (B) Giving Loans and Advances
(C) Issuing Currency Notes (D) Financing Priority Sector
fr1 o @ w19 @1 Rl aTfTfSores s @ it 8 7
(A) S G (B) o 3R T8t AT
(C) g1 e AR AT (D) wWuftehar & i fera-diwor
10. The value of free accommodation in Delhi provided by employer in Private
Sector
(A) 10% of salary (B) 15% of salary
(C) 20% of salary (D) 25% of salary

roft & o wes TeTeh g feoett ¥ JgH go 3TaTE 1 4o @
(A) FAEH10% (B) FAAHI5% (C) IaTH120% (D) oaH &1 25%

11.  “No smoking in the office” is an example of

(A) Policy (B) Rule (C) Procedure (D) Strategy
“T1 TR 39 < 3ATHRY” 31 “ATThd T fme i1 71 87 98 3T 3
(A) ifa (B) f=m (C) wfsram (D) AT

Code No. : C-445/2018/Series-A 4



12.

13.

14.

15.

16.

17.

In a wage system where employee is paid according to output is called
(A) Time Rate System (B) Piece Rate System
(C) Time cum Bonus Rate System (D) Price cum Bonus Rate System

TSI JOITeA! H STRT HHE ol IcATGA o HTHT X WA TRl ST 2 36 FEd &
(A) <rEH e faeeH (B) dw e faweH
(C) <13H %0 a9 1T faweH (D) TEH &Y §I9 @ feen

Which of the following documents is called a “Charter” of the company ?
(A) Memorandum of Association (B) Article of Association

(©) Prospectus ’ (D) All of these

fre o O fore gaTast =l Ut T ‘9T HEd B 7

(A) THIEH 3ATh THIITEH (B) 3Mféhdl 3Th THIHTIH
(C) WreyFe™ (D) 3T aeft

An extraordinary general meeting may be called by

(A) Shareholders (B) Directors

(C) Company Law Tribunal (D) All of these

Teh STETERUT 11 THT FoAT3 91T Fehell & —

(A) IERYNE g (B) Teereni gra

(C) Ut T fosge g/ (D) 3uied Ot g
Reserve capital is the amount which a company can call at the time of
(A) Purchase of New plants (B) Expansion of Business
(C) Winding up (D) Payment of Dividend
Fferd Goft =g ufyr & f8 st fope e o | Tehelt 8 2

(A) T 6 @l (B) ST T fereaol

(C) ¢ Hd o (D) fefags s PraM |

Balance in petty cash book represents
(A) An Expense (B) A Profit (C) An Asset (D) None of these
GeU Uhs Tal H doi-d ATTeTad Hidl 3

(A) @ (B) <™ (C) Uit (D) T8 T IE &

Which of the following is not an audit technique ?

(A) Inspection (B) Observation (C) Flow chart (D) Analytical review

f= I 9 19 €Y 3ATTSe dohdieh T8l & ?

(A) FURE  (B) JAfseyd (C) wl =R (D) ToreTsuTess Tften

5 Code No. : C-445/2018/Series-A



18.

19.

20.

21.

22.

23.

When an auditor does not find any error or fraud in the accounts, he gives

(A) Unqualified Report (B) Qualified Report
(C) Disclaimer of Opinion (D) All of the above
ST 3iTget TRaTeh | whis e I GiEn T8l uTar 2 o 98 <dl &
(A) 3w o (B) I i
(C) fegaem a1t affufm (D) 3l Tt
Diversification reduces
(A) Risk (B) Rate of Return
(C) Both (A) & (B) (D) None of these
fTehtUT TS &
(A) Sifgw (B) Widwel shi
(€©) (A) & (B) Tl (D) T HIg TE
Law of Demand is applicable when
(A) Other things remain equal (B) Other things remains unequal
(C) Behaviour (D) None of these
i 1 T o giar @ v
(A) 3= =S THH Tt # | (B) 31 <5l 3199 &l 2 |
(C) =ITER (D) T8 & Hig el
The most appropriate average in the construction of index number is
(A) Median (B) Geometric Mean
(C) Mode (D) Arithmetic Mean
TeIehich o 10T T el U 3NTd B
(A) HTfEreRT (B) TUTRI A&
(C) dgeleh (D) 9HT=R H1EA
World Bank is also known as
(A) IBRD (B) IMF (C) BIS (D) None of the above
forear <o 1 715 +ft had B
(A) IBRD (B) IMF (C) BIS (D) 0 9 His &l

Lead Bank Scheme was introduced in India in the year
(A) 1951 (B) 1956 (C) 1969 (D) None of these

YA H “Tiie oo Thi” ohiH U ATl § I[& 53T o7 ?
(A) 1951 (B) 1956 (C) 1969 (D) 370 & IS Tl

Code No. : C-445/2018/Series-A 6



24.

25.

26.

27.

28.

29.

Management Grid is the same as

(A) Johart Window (B) Middle Path Concept
(C) 3-d-Concept (D) T-Group Concept
it fire fopass T 8 7

(A) & famet (B) firset miy g

(C) 3-D-hiE (D) T-J4 Hi=<

Rank correlation was developed by
(A) Karl Pearson(B) Spearman (C) Galton (D) Fisher
“Toh BIlictyH” Topmreh gru forenféra fepem 7

(A) & e (B) TfREd (C) e (D) Trsr

The Theory of Collective Bargaining was given by

(A) Dunlop (B) Hicks (C) Keynes (D) Malthus
ek HiGaTS(! o1 THGTd fehdeh g feam Tmam o ?

(A) e (B) feem (C) i (D) Wed"
Increase in Cash Reserve Ratio leads to

(A) Increase in Bank Credit (B) Decrease in Bank Credit
(C) Constant Bank Credit (D) None of these

Fehe HINTITT | Jig | BT 8

(A) % shiseHgfg (B) % shfse © Tea

(C) for o shfge (D) 0 O HIs &l

The permanent termination of an employee from service is called

(A) Retirement (B) Retrenchment

(C) Demotion (D) None of these

T & fontll AT o SRR FHITH 1 had §

(A) Waf (B) Bt (C) el (D) 3H € IS &l
A Letter of Credit is addressed to

(A) The beneficiary (B) The Negotiating Bank

(C) The Reimbursing Bank (D) None of these

qrg v+ ferEen! gaiferg fepam Sian 2 2
(A) feafosert  (B) s aTefi s (C) wfaufd §s6 (D) 30 & IS &
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30.

31.

32.

33.

34.

3S.

‘Role Conflict’ is a type of
(A) Intra-personal conflict
(C) Inter-group conflict

“qfrept Terd’ Ueh JehR T &

(B)
(D)

Inter-personal conflict
External conflict

K CRICTCRE L
EIRES L

Michael Porter
Dalton E. Mcforland

HTSehc] TIeX gl
N a
gloed 5. Hhhics

Median > Mode > Mean

(A) 31=: Jafoaes gard (B)
(C) F<R-|wg Ty (D)
Sensitivity training was developed by
(A) Chris Argyris (B)
(C) Kurt-Lewin (D)
FacRToraT SrrerT forenféa femam T o

(A) Tohe s g (B)
(C) e Al (D)
Which of the following is true for Normal Distribution ?
(A) Q3-Q,=Q,-(Q (B)
(C) AM>GM >HM (D)

A §eA s iU aradi 8 7

(A) Q3_Q2:Q2_Q1
(C) AM>GM >HM

(B)
(D)

Internal Rate of Return 1s that at which
(A) NPV is positive (B)
(C) NPV is Zero (D)
yfawat 1 3Tdies et a8 2 R ™
(A) NPV AT g |

(C) NPVYIR |

(B)
(D)

The Schedule-8 of Banking Act includes
(A) Government Securities (B)
(C) Share (D)
Sfeh srferfem it srgg-8 # Wit 2 -

(A) Thrwfayfd (B) fes==R (€)
IDBI was set up in
(A) July 1964 (B) June 1964 (C)

IDBI e €ATfYd shl 778 off ?

(A) 98 1964 (B) S 1964  (C)

Code No. : C-445/2018/Series-A 8

Mode = 3 Median — 2 Mean

HTfErhT > Sgeteh > HIed
SgeTeh = 3 HITEHehT — 2 WL

NPV is negative
None of these

NPV ZRUITcH 2 |
30 9 HIS T8I
Debenture

All of these

IRR (D) Ut At

August 1964 (D) None of these

3T 1964 (D) 398 A IS &



36.

37.

38.

39.

40.

41.

The rate of Dividend on Preference Share is decided at the time of

(A) Issue (B) Redeemable

(C) Payment (D) Dissolution of Company
TReH IR R fefoe i @t wa fruif@ hi s 8 ¢

(A) TR L o T (B) T & 0

(C) T % THY (D) Ut o ferere & a9
Which is included under Type of Leverage ?

(A) Financial Control (B) Operating Risk

(C) Financial Leverage (D) None of these

et o dgd o1 AT foRam S g ¢
(A) o femor (B) s=mem siifew (C) fosfia effels (D) 370 @ =i =181

“Organisation is Foundation of Management.” Who said it ?

(A) Henry F ord (B) H.R.Haney (C) Killing (D) Lansbery Fish
“FiTe S <l fia & |7 98 foRe whaT o ?

(A) T®E  (B) TE.IW. gt (C) Tenfem (D) orHe fohar

QGraicuna’s name’s linked with

(A) Delegation of Authority (B) Span of Control
(C) Unity of Command (D) None of these
TSP o1 AT ST 53T &

(A) TAT 6T AT (B) o= & faear
(C) 3TTC <l Tohell (D) ¥ ¥ i3 &l
The Promotional Mix involves to

(A) Advertising (B) Personal Selling
(C) Sale Promotion (D) All of these
THTIC T it foham Siar 2 g forg

NRREEILE B) Feifesrr (C) fospawada (D) Swe ot

From the following, identify the Web-based Financial Software :

(A) Private Equity Software (B) Share Accounting Software
(C) Wealth Management Software (D) WINGS 2013

T 5 9 99 snurita fode Hites™r 1 yg=ntu -

(A) YTSAC iaardl |ATRa—i (B) IR RSN ARSI
(C) oY BT FTHeaR (D) fa@ 2013

9 Code No. : C-445/2018/Series-A




42. Which is not an operative function of HRM ?
(A) Procurement (B) Development(C) Organising (D) Integration

I "1 HRM o S=Te h1E T8l & 7
(A) famfs (B) foem (C) A (D) TEhIehTUT

43. Duty levied on the value of goods “imported” is referred to as
(A) Ad valorem Duty (B) Compound duty
(C) Specific Duty (D) Import Duty
“ATATIq” WA b ool I T S[esh R & 7

(A) IUMA Yok (B) @B Yesh  (C) falmegess (D) 31mma Iosh

44. The degree of super-leverage would be calculated by
(A) Adding DOL (Degree of Operating leverage) and DFL (Degree of
Financial Leverage)
(B) Dividing DOL with DFL
(C) Multiplying DOL and DFL
(D) Substracting DOL from DFL
g -t feaft <6t o 8 AT St R 7
(A) DOL (3Atqfen efteist feaft) 3t DFL (wrgifarre el feift) s siie &
(B) DOL ! DFL & fasfora =teh
(C) DOL 37 DFL I TUH &{eh

(D) DFL & & DOL ! HeTeh

45. An MBO programme usually involves the following steps :
a.  Establishing Unit’s objective
b.  Establishing organizational goals
c.  Negotiating or agreeing
d. Reviewing the performance
e.  Creating Action Plans
Indicate the correct sequence :

MBO T I {1 =won =l et swan @ -

a. e Il I T b. TR AL I T HEAT
c. SIadid o1 HEhld d. e 6t it e

. Ul tqld oI

EHETECIE

(A) a,b,c,d,e (B) b,a,c,e,d

(C) b,c,a,d,e (D) e,d,c,b,a

Code No. : C-445/2018/Series-A 10



46.

47.

48.

49.

50.

Accounting Standard-14 is related with

(A) Amalgamation (B) Valuation of Stock
(C) Depreciation Accounting (D) Valuation of Assets
AT TTHh- 14 GEfod 8

(A) U o (B) Tfeh o qeaTehd
(C) HoIs™ TiEh | (D) HuRq3Ti o Yeuehd &

Discount allowed on issue of share is an example of

(A) Capital Expenditure (B) Revenue Expenditure
(C) Deferred Revenue Expenditure (D) All of these

IR A B H STTHT T 3HhT 38T &

(A) Ot @d (B) Tsha @

(C) eAfirg Toiea @ (D) 3R gft

Three Need Theory is given by

(A) Herzberg (B) McGregor

(C) Alderfer (D) David McClelland
o SATevhdr fagra foroes g feammen g 7

(A) Estert (B) HHIR

(C) TesTHt (D) sfe dacficie

The people to adopt a new product first are called

(A) Early adopters (B) First users

(C) Initial adopters (D) Innovators

U 3IATE I JYHT: 3THR & 9T hadld o

(A) IS TTH a1 (B) TUH IRANTehdl
(C) R 39N a1 (D) Yadeh
Marginal costing technique is useful for

(A) Make or buy decisions (B) Profit planning
(C) Shut down decisions (D) All of the above
T AT deheieh fopEeh forw Syl & 7

(A) =M A1 TliEd H1 ol (B) < ST

(C) e 1 faufe (D) 3wt Tuft

11 Code No. : C-445/2018/Series-A



S1.

S52.

3.

54.

5S.

56.

Who coined the term ‘Hindu rate of Growth’ for Indian Economy ?

(A) AK. Sen (B) Raj Krishna

(C) Kirit S. Parikh (D) M.S. Ahluwalia
“fomg X2 31T 1Y Teg o1 AT Sreferaeen ¥ fope feam 7

(A) T TH (B) TS &s0m

(C) forlle wa. uriti@ (D) TH.TH. @A™
Which one of the following is a development expenditure ?

(A) Grant-in-Aid (B) Debt Services

(C) Civil Administration (D) Irrigation Expenditure

fdasnafoemeEd? ?

(A) TER® 3FEH(B) F®ITEN  (C) G wume (D) = wd

The main source of National Income in India is

(A) Agriculture (B) Industrial Sector

(C) Service Sector (D) Trade Sector

YId H TS 3T %1 Y@ &1 &

(A) By (B) =mead  (C) T@Tad (D) AR &
In which Five Year Plan, the main objective was the eradication of poverty ?
(A) Fourth (B) Fifth (C) Sixth (D) Seventh
i H e AT H T g2 1 e 36w o ¢

(A) el (B) ui=dll (C) Bt (D) Hrael
Population density is defined as the number of persons

(A) per square meter (B) per square kilometer

(C) per square mile ’ (D) None of these

ST T et <l wE o &9 uieya fopan Sran 2 |

(A) 9fd & X (B) ufd =t fepatnfiex

(C) fd =t arge (D) 394 9 HIg Tl

The concept of sustainable development relates to

(A) Social Equity (B) Exhaustible Resources

(C) Consumption Levels (D) Intergenerational Equity
gl foehra &1 frgra wafea @

(A) TMETH i & (B) &iel damed

(C) 39T &R H (D) 3Aa:digt

Code No. : C-445/2018/Series-A 12



57.

58.

59.

60.

61.

The Nodal agency for implementing the ‘Rural Infrastructure Development
Fund Programme’ is

(A) RBI (B) NABARD

(C) SBI (D) State Co-operative Bank
T TIIZFR STATH HE T o IRUTe o oY st T 8
(A) RBI (B) e

(C) SBI (D) e HI-3Awfed S
Relative poverty refers to

(A) Bankruptcy (B) Trade cycle

(C) Minimum needs of life (D) Economic inequalities
ATk T Hehid

(A) feaferamm (B) SR =5k

(C) fia i =T TTavashary (D) 3Tfieh IrEwTand

Which of the following is not included in Human Development Index
(HDI) ?

(A) Adult literacy (B) Social inequality

(C) Life Expectancy (D) Real per capita income
e | 9 |1 wa foehrd geehies (HDI) | Siie &l 8 ?

(A) TIEH AT (B) HHINTh STEHHAT

(C) Sitee Jeamsm (D) arxifes Sid-=afad 3T

The Apex organisation for Marketing Co-operatives at the national level is
(A) FCI (B) NAFED

(C) National Co-operative Union (D) None of these

TS T T ATehieHT ohi— TR fead o foru fimew wme &

(A) FCI (B) NAFED

(C) ATHe hi-HATRfee gfrm (D) 378 & H1S T

Which of the following is not a public sector unit/undertaking agency ?
fet | S & "rest (e 8 (e /IUshT T T8 7 7
(A) SEBI (B) SIDBI (C) BHEL (D) Axis Bank

13 Code No. : C-445/2018/Series-A



62.

63.

64.

65.

66.

Industrial licensing was finally abolished (with a few exception) in the

(A) Industrial Policy, 1970 (B) Industrial Policy, 1980
(C) Industrial Policy, 1991 (D) Industrial Policy, 1995
3ienfires SATSERIT i 31=7a: Ta9 L e T ($B 31uaTe o A1)
(A) 3trenfies Hifq, 19704 (B) 3ftenfies Hifa, 1980 &
(C) 3irenfires Hifa, 1991 @ (D) 3ftenfies Hifd, 1995 %

Devaluation of currency leads to

(A) Expansion of Export trade (B) Contraction of Import trade
(C) Expansion of Import substitution (D) All of these

HAT < eI 9 BT &

(A) Traia =R =1 forar (B) AT SR T GHaH

(C) AT YfeeTa ol faer (D) 3ot

The present Indian Monetary System is based on
(A) Minimum Reserve System (B) Gold Reserve System
(C) Proportional Reserve System (D) Convertible Currency System

YA bl IqHH Hifees Jonedt fore W snamfa g 2
(A) —IITH ITREIVT JUTA (B) 0T STRETVT JUITe!
(C) HHTHTI STRET JoTTei! (D) i ggT orreft

The stock market index of London Stock Market is referred as
(A) Bullish (B) Footsic (FTSE) (C) Sensex (D) NIFTY
e Tieh Hehe hl Fih HIhe Sroay forEd Hefifq 27

(A) Seiw (B) et (FTSE) (C) T (D) Fh

Which of the following is not a financial term ?

(A) Investment (B) RTGS

(C) Core Banking Solution (D) EIl Nino effect
e o & oo o wreg T 22

(A) Trew (B) RTGS

(C) R Sf=hT GiezH (D) 37 T g

Code No. : C-445/2018/Series-A 14



67.

68.

69.

70.

71.

Which of the following organisations is known as the market regulator in
India ?

(A) SEBI (B) IBA (C) NSDL (D) None of these
I T T 19 1 TTeH YRd H HTohe {305k o €9 | ST ST 8 7
(A) SEBI (B) IBA (C) NSDL (D) T & s T&

Which of the following cannot be called a Debt Instrument as referred in
financial transactions ?

(A) Bonds (B) Stocks

(C) Commercial Papers (D) Certificate of deposits
=1 8 1 o & Tl o & aed B swor A i 8

(A) dieH (B) igH

(C) anfurfseres yus (D) feufsrem & adifthore

In which year the Indian Rupee was devalued two times within a month ?
form o T YT o ¥ T T, T TEH H o S g3 AT 7
(A) 1990 (B) 1991 (C) 1994 (D) 1999

Treasury bills are sold in India by

(A) RBI (B) SEBI

(C) Commercial Banks (D) State Governments
WA T ot forew fopsh gru sl i 8 2

(A) RBI (B) SEBI (C) @ISy s (D) TT THR

Which of the following is considered an informal method of getting
credit/finance ?

(A) Branch visits (B) Telebanking

(C) Internet Banking (D) Going to Moneylenders
I T T I 1 HOT AT shige U T SII=TTh aishl T ST 8 2
(A) SITET GeAThId (B) <efi-af=pm

(C) Fete sfhm (D) U1 ¢ ITell o J&T ST
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72. Which of the following is an easy way of providing credit to the farmer
community ?
(A) National Saving Certificates (B) Kisan Credit Card

(C) Indira Vikas Patra (D) None of these
71 o 9 sF 91 TohdT TG ol 0T M i 1 T alehl & ?
(A) TS §=d JHTI-95 (B) Terum shfse g
(C) =T ferepma w1 (D) $TH ¥ IE &l
73. The functions of the Lead Bank are performed by
(A) SBI (B) RBI
(C) Any Bank (D) A Bank designed for this bank
IS ook o 1Y foheh g R AT 8 7
(A) SBI (B) RBI
(C) I8 3t o (D) 39 s o fou fesiret <6l 718 ofep

74. Which of the following sectors contributes most to saving in India ?
(A) Banking & Financial Sector (B) Export Sector

(C) Private Corporate Sector (D) Household Sector
=1 5 o 91 & R | s o foi Ted 31fore AeH ¢t g ?
(A) Sfer 3R ot &= (B) fraia &=
(C) Tosft siafte &= (D) = &
75. When was the First Regional Rural Bank formed ?
e Ut JTf3Teh TTHIUT sfeh AT fmior 511 41 ?
(A) 1974 (B) 1975 (C) 1976 (D) 1977
76. If the tax rate increases with the higher level of income, it shall be called
(A) Proportional tax (B) Progressive tax
(C) Lump-sum tax (D) Regressive tax
3T o I T o T Ife o <hl <t Y Fgdl 7, O 3H hal STHT1 1180
(A) HHTIATI (B) HIfE #
(C) UHHd (D) {URHE

77. MODVAT is related to
(A) Wealth Tax (B) Excise Duty (C) Income Tax (D) Sales Tax
MODVAT fore® gmfa 2 7

(A) gmds  (B) SAEIPeH (C) IR OREERES
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78.

79.

80.

81.

82.

83.

The recommendations of the Kelkar Task Force is related to

(A) Trade (B) Banking
(C) Foreign Investment (D) Taxes
TRt ITEh B <h! TEqfd forad Tefea 2 7

(A) SR (B) sfem (C) fasfifemr (D) =

The Exchange of Commodities between two countries is referred as

(A) Balance of trade (B) Volume of trade

(C) Bilateral trade (D) Multilateral trade

1 <M o st ST ol e fohdl Tghid shar 8 7

(A) SR T FgeH (B) SHTUR 1 A

(C) Teuefia =mm (D) wguefia =mR

The Asia’s first Export Processing Zone was set up in

(A) Kandla (B) Cochin (C) Surat (D) Santa Cruz
TSI T 9o i e S et Tnfyd femam mm o 7

(A) el (B) = (C) g (D) =l
The head office of the Asian Development Bank is in

(A) Nairobi (B) Tokyo (C) Jakarta (D) Manila
TR TN Sioh 1 JEITeR el § 7

(A) =t (B) Al (C) STehral (D) e

A ‘want’ becomes a ‘demand’ only when it is backed by the

(A) Ability to purchase (B) Necessity to buy

(C) Desire to buy (D) Utility of the product

Teh ‘IIYFhar’, ATt S & T 3HehT TH Tt SraT 8

(A) Gic gaal (B) @ieH =t SATageha

(C) Wlic i ATehTen (D) 3T <t ST

Fiscal Policy in India is formulated by

(A) RBI (B) NITI Aayog

(C) Finance Ministry (D) SEBI

WA H Treh T it forereh gT oo <l 775 oft ?

(A) RBI (B) fifasmm (C) W™ (D) SEBI (3&ft)
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84.

8S.

86.

87.

88.

Which of the following is used to compare two or more frequency
distribution ?

(A) Histogram

(B) Frequency polygon

(C) Cumulative frequency curves (ogives)

(D) All of these

1 AT SATET TG Forewer 3ht Get1 i o ToTe w1 o 9 Terseht SeawTet fopem ST @ ¢

(A) feemm (B) foparar=ft qiferia
(C) H=r=ft S a6 (3ISIEa) (D) A et

The difference between the lower limit and upper limit of a class is known as
(A) Class interval (B) Class limit

(C) Mid-point of class (D) None of these

Teh g9 <hl F=redl imm 37K Sudl a6 1= o 3TaT bl shal SI1dT 8

(A) @A (B) oAl (C) =ish e foig (D) 7 € s &1

Which of the following are methods of forming the class interval ?

(A) Exclusive method (B) Inclusive method
(C) Both (A) and (B) (D) None of these
1 % & i 1 ot siaue o o6 qde B 2

(A) TFEFE TS ] (B) Sad ciieh]
(©) (A) 3R (B) TH (D) T & B T

A sampling unit must have which of the following characteristics ?
(A) Must cover the entire population (B) Non-overlapping

(C) Distinct and unambiguous (D) All of these

T Sferere gfie & frm 3 & 6 & wegor a9 & =t 2

(A) Tl SHEAT I HTENA HET MM |

(B) R-3feamdt

(C) fafimse 3k geose

(D) A |eft

‘Parameter’ refers to the characteristic of

(A) Population (B) Sample (C) Both (D) None of these
Vet foreh TN ohl T sHidl & ?

(A) SHEE  (B) (C) & (D) T8 ¥ IS A&l
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89.

90.

91.

92.

93.

94.

Class width can be calculated as

(A) Range / Number of classes (B) Range x Number of classes
(C) Range / Number of samples (D) None of these

-1 shi TUMT 1 ST Hehell & —

(A) &/ =l | (B) & x =Tl <hi HE&AT

(C) /7ot <t g&n (D) 0 O His &l

The area under frequency curve should be equal to
I T3k o q8d &1 fohteh SR g1 A1RY ?
(A) 10 (B) 50 (©) 90 (D) 100

Which of the following is particularly useful to compute the mean of means ?
(A) Arithmetic Mean (B) Geometric Mean

(C) Weighted Arithmetic Mean (D) None of these

1 o @ oM &1 oy 9 & Arei o wred shi oA H ITAR g 2

(A) FHT 1L (B) VTR H1EA
(C) WTid THT=R 771 (D) ¥ ¥ IS &l
Standard deviation can be expressed as
_ = )
(A) ng—xl (B) EXN—XL (©) ﬁ% (D) None of these

s forrere 39 &9 | 31fieush foham ST dehdT &
() EEL gy I o) A [BEEE ) g

Given Mode = 32.1 and Mean = 35.4, what will be the value of Median ?
gt = 32.1 TR AT = 35.4 fean &, A1 Wifeseht 1 qod 91 71T 7
(A) 15.99 (B) 153 (C) 343 (D) 22.1

Each normal distribution is defined by its which of the following
parameters ?

(A) Mean and Median (B) Standard deviation and Mode

(C) Mean and Standard deviation (D) None of these

eleh T 2 3Heh 0 JTaedl B & ShiF 8 JTael | SAredid fohan St g 7

(A) HTET 3T ATIETHT (B) T faae 3R agath
(C) TIET 3R A et (D) 8 O His &l
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9s.

96.

97.

98.

99.

If ‘x* and ‘y’ are independent variables, then the two lines of regression are

(A) x=0,y=0 (B) x = constant, y = constant
(C) x=0,y=constant (D) None of these

Ifg x* 3 ‘y’ T = &, A1 FHIHF hi g @ &

(A) x=0,y=0 (B) x=31= y =3

(C) x=0,y= 3R (D) 398 O H1g Tl

If the regression coefficient of Y on X is 4/3, then the regression coefficient
of Xon Y is

(A) less than zero (B) less than one
(C) more than one (D) None of these
JfQ Y ST TSR O X W 4/3 8, A X 1Y T FHI 00 8

(A) TIEFA (B) WHA®HA  (C) ARG (D) TH Y HE T2

A formula of Karl Pearson’s coefficient of correlation is

et F1REH o TgHee TOTeh i T 2
(A) 1= XY B) 1= XY
A /yz —Yx2 A /xz _ zyz
©) r= | =X (D) None of these / 3T8 & s 781
XXXy
In the f laR=1 _OID* ‘D’ ds fi
n the formula R = NN 1)’ stands tor
(A) deviation (B) difference of two ranks
(C) coefficient of correlation (D) None of these
R=1-—22D% 3 p o areh
WR=I-yw -1
(A) foreer (B) &1 t<pH H 3T
(C) weHsY U (D) 3 € I8 &l

Null hypothesis and alternative hypothesis is respectively denoted by

(A) HjandH; (B) H;andH, (C) oandf (D) None of these
S[ TTehehe T 3R Sehfctreh TTeheheuHT <l shHvT: Tfdse fema ST 2

(A) H,3RH, (B) H,3RH, (C) a3WP (D) TH&hE
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100.

101.

102.

103.

104.

Which of the following is/are included under the characteristic of useful
hypothesis ?

(A) Clarity (B) Empiricism (C) Specificity (D) All of these
71 5 & &9 91 TR SThedT o W& o qad ST fohal ST & ?

(A) TSl (B) 3weerg (C) faffésear (D) 2 aeft

Which of the following tests is used to test the significant differences of
2 sets of related variables ?

(A) F-test (B) T-test

(C) Both (A) and (B) (D) None of these

e qeqoni | S =1, 9Efdd =1 o 2 W b HE@YUl 3Tl o T % faw
IR fepaT ST & 2

(A) F-udrero (B) T-uli&mo

(©) (A) 3R (B) TH (D) T & B T

The causal relationship is indicated by
(A) Correlation (B) Regression (C) Association (D) None of these
HTT Ty fohereh gr0 g fran S g ¢

(A) wEEeY (B) e (C) T (D) T8 ¥ HIE &

Testis a

(A) Parametric test (B) Non-parametric test

(C) Large sample test (D) None of these

e § T

(A) YTETeteh Tdeqo (B) 3TuTEfcTeh Tiaaor

(C) J&d §¥ae g (D) ¥ ¥ IS &l

One of the possible outcomes of an experiment is known as

(A) Push (B) Event (C) Experiment (D) Average
Tsh SANT < Ueh GWS qNUTH 1 hal 1T &

(A) <= (B) we&T (C) wam (D) 3f&d
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10S.

106.

107.

108.

109.

110.

Which of the following is a type of correlation ?

(A) Negative correlation (B) Multiple correlation
©) .Simple correlgtjon (D) All of these
=1 5 & 9 o1 TgHeEY &1 Th THL R 7
(A) THRIHS Tgaag (B) g HgEey
(C) o agaey (D) J @t
2
—I)iz is a
(A) Mean (B) Mode (C) Average (D) Covariance
2xy
T ®
(A) T (B) wgah (C) 3ftEa (D) FETET
AbC is related to
(A) Average (B) Mode
(C) Mean N (D) Association of Attributes
AbC formd Tefa 2 7
(A) 3ftea (B) wgo (C) == (D) TOTI T &=

Yule’s coefficient of association varies between
(A) —1t00 (B) Oto+1 (C) =1to+1 (D) None of these
3 ST TG TUTTeh fohteh Sl H SGeTdl & 7

(A) —190 (B) 03 +1 (C) —18+1 (D) FHAHETE

Test of homogeneity is a utility of

(A) Chi-square (B) Regression analysis
(C) Mean (D) F-test
TSI AT <1 Tiieqor fohereht Iufirar 8 7
(A) HrE-=1 (B) HHE fervetyur
(C) wIA (D) F-udigqun
What is the chance of drawing a queen from a pack of 52 cards ?
(A) % (B) % ©) % (D) None of these
52 Ut % Uk B | T Fehetd &1 STaER R 8 7
1 1 1 . .
(A) 3 (B) ¢ ©) 13 (D) T @ Ig &
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111. A bag contains 10 white and 6 red balls. What is the probability of drawing
a white ball ?

ek ft T 10 The 3T 6 AT T & | e TG o FHeher ol TTirehat R 2 72

3 6 1
4) 3 ®) © 2 D) 5

112. 8P, can be expressed by
8p, ! fireafed &

8—3 8! 8 —3)! 8!
W 5 ® g © 5T o g

113. In how many ways we can arrange 4 books in a book-shelf ?

fehc el | 4 fohdTall 1 Teh §eh-Jct W A fohaT ST Heha & 7

(A) 4 (B) 8 (C) 16 (D) 24
114. 0.01 in percentage will be equal to
0.01 Sfcrera # fopeeh SRUSR T ?
(A) 0.1% (B) 0.01 % ©) 1% (D) 100 %
115. A line (L) is perpendicular to the line 2x — 5y — 8 = 0. What is the gradient
of the line (L) ?
W (L), W@ 2x—5y—8=0 a2 | 3@ (L) Hl Jauar = & 7
2 5 3
A) % B -3 © -3 (D) 4

116. f(x)=2x2—5 and g(x) = 2x — 1. The value of g{f'(-3)} is
fx) =2x2 — 5 3 g(x) =2x— 1, g{i-3)} T T B
(A) 25 (B) 30 (C) 35 (D) 45

1
117. What is the derivative of 32 ?
1

§ws§a=|a€n%?

2 3 2x3 3x3

(A) 33 B) ~73 © —75 (D) =7~

118. x —2is a factor of x3 — 9x + k. The value of k is
x=2,x3-9x+kHuUHE | kBT 7
(A) —7 (B) 7 ©) 10 (D) —10
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119. Find J 4 cos (2x + 3) dx.

[ 4 cos (2x+3) dx AR |

(A) 4sin(2x+3)+C (B) —4sin(2x+3)+C
(C) 2sin(2x+3)+C (D) —2sin(2x+3)+C

120. The exact value of 4 sing cos [— g} 1S

4 sin%cos (‘%}W‘T&ﬁr@q%

(A) 1 B) 3 © -3 (D) 3
121. Alberuni lived during the period of

(A) Mohammad Ghori (B) Alauddin Khilji

(C) FirozshahTughlaq (D) Mahmud Ghaznavi

ITceEH! fohtoh THIAHIA b G & ?

(A) HIEHE TR (B) 31eT3E Raetsh

(C) TRUSTITE grreTeh (D) W&Hg TSt
122. The Seven Ratha temple of Mahabalipuram was built by

(A) Narsimha Varman (B) Mahendra Varman

(C) Nandi Varman ’ (D) None of these

HETSICTgL 3T |Td T oh1 HCT fohE- SHaT o7 ?

(A) Tl o (B) Hes o

(C) e (D) T8 & IS T
123. In medieval India, what did the term Jital refer to ?

(A) Game  (B) Coin (O Diet (D) Weight

HET o YA § “aTer’ vreg fopeent Tefifd a8 7

(A) Tm (B) Taemhr (C) =1 (D) a5H
124. Who was the first real king of Delhi Sultanate ?

(A) Qutubuddin Aibak (B) TIltutmish

(C) Razia Sultan (D) Balban

feoet! Fod-d 1 I8l ITEdideh Ik i T ?

(A) FAEATH (B) Segamm  (C) WA gedd (D) oetsd
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125.

126.

127.

128.

129.

130.

The Bahmanis of the Deccan rose to prominence in which of the following
centuries ?

(A) 13t (B) 144 (C) 15 (D) 16"
e & Topm STaTes] o gfequT o SIgH-T <l JTeT= o7 ?

(A) 13dt (B) 14 (C) 154 (D) 1641
Sheikh Nizamuddin Auliya was the disciple of

(A) Baba Farid (B) Khwaja Moinuddin Chisti
(C) Sheikh Ahmed Sirhindi (D) None of these

3@ FemgEH sfforan fevae g & 2

(A) STET G (B) TSI Hige A fawdt

(C) ¥@ 3rene e (D) T & =i T

Which of the following was constructed by Akbar in Fatehpur Sikri ?
(A) Panch Mahal (B) Hira Mahal

(C) Rang Mahal (D) Moti Mahal

HAEY Wikl | 3The A f1 o 9 b &1 fmfor sheam o ?
(A) U9 HEA (B) &N g (C) T HEA (D) i 7EA

The administration of the English East India Company in India came to an
end in

I H $foTe1 55 e Ul o TRITEH o1 370 el 53T 7

(A) 1857 (B) 1858 (C) 1862 (D) 1892
The first Governor General of Bengal was

(A) Warren Hastings (B) Robert Clive

(C) William Bentinck (D) None of these

ST hT AT T ST T

(A) aiFgfem  (B) Usdwga  (C) faferw §f<es (D) 30 @ +ig &1

Who among the following was a proponent of Fabianism as a movement ?

(A) Annie Besant (B) A.O.Hume
(C) R. Palme Dutt (D) M.M. Dutt
TG o &9 T Hhigemfay o J&mess &H o 7

(A) Tiisg< (B) TIALEH (C) I UeHAGd (D) TH.UH. T
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131.

132.

133.

134.

135.

136.

In which year did Lord Hardinge cancel the partition of Bengal ?
fond AT T TS BTTSal o ST bl faIvToi Tee foham 7

(A) 1905 (B) 1907 (C) 1909 (D) 1911

Who was the President of the Constituent Assembly of Independent India ?
(A) Dr. B.R. Ambedkar (B) J.L. Nehru

(C) Dr. Rajendra Prasad (D) K.M. Munshi

T W hl GG T o6 37898 o

(A) . «1.3TR. 36gH (B) .Td. 9g&®

(C) . Toig 34T (D) .uH. gt

Which Constitutional amendment inserted the two words ‘Socialist’ and
‘Secular’ in the Preamble ?

(A) 42nd (B) 44t C) 1 (D) 73rd
I O Gy G gRI T&d1eHT 1 “gareiarel” 3R “adfader” wsel i Siel

T ?
(A) 429 (B) 443 (C) wem (D) 73df

Which of the following articles of the Constitution of India has provision for
the President of India to proclaim National emergency ?

YA o GIIEH o D d eS¢ H TR o UsgUld gHI USET HATITdehTe et
NN S 1 TEUE § ?
(A) 352 (B) 356 (C) 360 (D) 368

The maximum age limit prescribed for the post of the President of India.
(A) 58 years (B) 60 years (C) 65 years (D) None of these
YT % TSgUfel o Ue o foTu 3tfereram 31y wiw o fRaff@ S Mg & 2

(A) 589 (B) 60 @ (C) 65d™ (D) 78 & I3 T

Which one of the following is presided over by one who is not its member ?
(A) Vidhan Sabha (B) Council of Ministers

(C) Lok Sabha (D) Rajya Sabha

et & & fongehl 378981 I 4C T8l & ?

(A) fagmasm (B) wfiuftog (C) eishawn (D) T<IEHT
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137. Who decides whether a bill is a Money bill or not ?
(A) The President (B) The Speaker
(C) The Vice President (D) The Finance Minister
1 Frgifa et 2 o o fadess o fadess g an =& ¢

(A) Trsgufd (B) Ttet (C) 3u-Tsgufd (D) foa waft

138. The first general election in India on the basis of adult suffrage was held
during the year
(A) 1949-1950 (B) 1951 —-1952 (C) 1953 —-1954 (D) None of these
TIEH TATIHR o TR T ARG H Tgell 379 IS fhd |1l § 53T AT 7

(A) 1949 —1950 (B) 1951—1952 (C) 1953 —1954 (D) S ¥ I3 el

139. The base year for computation of National Income in India is
YA B TSER 3T 3l TTUAT o ToTe, 31 o 3
(A) 1990-1991 (B) 1993 -1994 (C) 1999 —2000 (D) 2000 —2001

140. The Rolling Plan for backward countries was suggested by
(A) Gunnar Myrdal (B)W.A. Lewis (C) R.Nurkse (D) A.Samuelson
e gt o fore et <= =1 gema feam an

(A) TRE  (B) s=YU.ogH (C) IR’ (D) U H=IeEd

141. Which of the following continents has no volcanoes ?

(A) Africa (B) Australia
(C) North America (D) South America
=1 8 9 forw waTEu  SaTetEt T8 | ¢

(A) 3ITHIHT (B) Aeferm  (C) swamdsr (D) gfaor amdieht

142. Mechanically formed sedimentary rocks are

(A) Chalk (B) Coral (C) Gravel (D) Borax

I7Treh Y Y MSd TS I8 8

(A) =TH (B) #m (C) Hhs (D) SR
143. ‘Mariana’ is a/an

(A) Hurricane (B) Oceanic trench

(C) Volcano (D) None of these

BT 7 -

(A) THH (B) HEEWRE @WE(C) SemEl (D) $H 8 I3 &l

27 Code No. : C-445/2018/Series-A



144.

145.

146.

147.

148.

149.

Asia and North America are separated by

(A) Berring Strait (B) Bass Strait

(C) Strait of Dover (D) Cook Strait
T 31 I 310t foreeh gRT ST g 8 7

(A) ST STerEsht (B) &TE TTEATSH
(C) SIe &l JeTEATSh (D) % SIAEISH
Most of the Ozone in the atmosphere is concentrated in the
(A) Ionosphere (B) Mesosphere
(C) Stratosphere (D) Troposphere
STATSRTT 3 JATeRIT JISH Tehfegd 8

(A) IRAEERR (B) HWEEERR  (C) WaATERR (D) JA9EhRR

Which of the following creeks is not associated with the State of Gujarat ?
(A) KoriCreek (B) Godai Creek (C) Kajhar Creek (D) Sir Creek
e 5 & B = @ o e Y I gg T R v

(A) T (B) METE () FWEL (D) WER

The Northern part of the Western Coastal Plain of India is also known as
(A) Karnataka Coast (B) Malabar

(C) Konkan (D) Coromandal

WA o Ufeas q&i HeM o 3T 9T ol I8 Hi e & -

(A) FARHdE (B) HTER (C) hihur (D) HRHSA

Ganga — Brahmaputra delta forest is known as

(A) Rain forest (B) Sunderban
(C) Monsoon forest (D) Deciduous forest

T — ST&TYA Seel 9 i I8 Hed &
(A) auiad (B) HateH (C) AFEE S (D) dulur &=

The only sanctuary where Kashmir Stag is found is

(A) Kanha (B) Dachigam (C) Gir (D) Mudumalai
THATA WA el SHYHI 701 1T ST 3
(A) ®T=l B) sm  (C) fr (D) HgHe
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150.

151.

152.

153.

154.

15S.

The conductivity of a super-conductor is
(A) infinite (B) verylarge (C) verysmall (D) zero
GUh-Sael Shi ATCThdT o

(A) 37 (B) sgawdl () WA (D) YA
Diffusion of light in the atmosphere takes place due to

(A) Carbon dioxide (B) Dust particles

(C) Helium (D) Water vapours

ferereh ST ITATERUT H JehTST o1 JHR BIAT & 7

(A) HIE SRATETSS (B) 4T Ul

(C) eiferam (D) STt a1

The waves used in sonography are

(A) Infrared waves (B) Ultrasonic waves

(C) Sound waves (D) Micro waves

AT | 3T Y ST aTeft a8

(A) 3TETH qqt (B) 3TN al

(C) wafaan (D) H&| aql

Amino acids are building blocks of

(A) Proteins (B) Fats

(C) Vitamins (D) Carbohydrates

Ui ufye fopees fFmT@g 8 7

(A) Wi&= (B) =& (C) fyafm (D) weiEEgeH

Vitamin D is
(A) Pyridoxin (B) Ergosterol (C) Calciferol (D) Tocoferol
foafm D2

(A) TRRiEN  (B) WA (C) Hfcawid (D) Jhibla

Which of the following is different from the rest ?
1 8 & 91 il 8§ 3T 8 7
(A) NP (B) PR (C) US (D) EG
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156.

157.

158.

159.

160.

161.

From 3 to 41 how many such numbers which are divisible by 3 and the sum
of their digits is 9, are ?

39 41 ¥ fopat UEl T=d & S 3 8 fawrsa & 3R 3k 3Rl HIAM O 7, T8 @ 7
(A) 2 (B) 3 ©) 4 (D) 5

Which state government has started Asmita Yojana to provide sanitary
napkins at subsidized rates ?

(A) Maharashtra (B) Haryana (C) Tamil Nadu (D) West Bengal
Tore T weepR 7, Al Fufer-a At et W yeH ¢ o fote sifarar e e Hr g 2

(A) TERTZ (B) gfwmm (C) dferg (D) wivEd e

Which country hosted the World ATM Congress (WATMC — 2018) ?

(A) India (B) USA (C) UK (D) Spain
forg <=1 9 fagar ATM 108 (WATMC — 2018) i e hi 8 2

(A) WRd (B) J.UH.U. (C) I.h. (D) TH
Who has been sworn in as the 10" Chief Minister of Tripura ?

(A) Biplab Kumar Deb (B) Jishnu Debbarma

(C) Prabhash K. Devvarman (D) None of these

0 % 103 g & w9 8 fopem s i ] 2

(A) fowra AR S (B) foreg caom

(C) 9N . caaHd (D) 0 9 His &l

Which of the following has become the India’s first Union Territory to run
completely on solar power ?

(A) Chandigarh (B) Diu

(C) Lakshadweep (D) Andaman and Nicobar Islands
YRA § I A1 g MR TG J01 &9 & TR o1l I T STell T8l J6s s R 8 ?
(A) =Eme (B) d@

(C) weTga (D) 37edM 3R Fehem glaaTg
Pandoh lake is situated in which district of H.P. ?

(A) Mandi (B) Bilaspur (C) Kullu (D) Chamba
TewTaa wew < fopd 518 4 wieiE sfiel fea @ 7

(A) TS B) feamg  (C) FeL (D) =
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162. Bhadal Glacier is located in which district of H.P. ?

(A) Kangra (B) Chamba

(C) Lahaul & Spiti (D) Kinnaur

fermerer wew o form et o wieet it R 7

(A) TSt (B) =

(C) W& 3R feafa (D) Tl
163. ‘Asni’ river is a tributary of river

(A) Beas (B) Chenab (C) Ravi (D) None of these

‘I TG fope 7 Sl TR A ® 7

(A) =I™ (B) e (C) Tt (D) ¥ 9 s &l
164. The first Deputy Chief Commissioner of H.P. was

(A) M.C. Mehta (B) Chiranji Lal Verma

(C) E.P. Moon (D) None of these

et T % TEet SR < B & -
(A) T.H. 7ga (B) i adi(C) 3.9, @ (D) 0 O His &l

165. She us farewell.

(A) bid (B) bade (C) bidding (D) bidden
166. Antonyms of the word ‘unruly’ is

(A) dirty (B) orderly (C) noisy (D) None of these
167. Meaning of the idiom ‘To eke out’ is

(A) tosubstract (B) tosupplement(C) to etch (D) to oust
168. firh 3req 3

(A) T (B) et (C) ®wemm (D) Ffufiw
169. T 1 forudiamels &

(A) P (B) g (C) foa (D) Wt
170. wfafe & mma &

(A) &% B) =ghfe () s (D) e
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